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| Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark your answer sheet.

1-  Mrs. Harding herself was thin and frail but her son was a sixteen-year-old.
1) unbearable 2) verbose 3) sturdy 4) lethargic

2-  Some tribes still the more remote mountains and jungles of the country.
1) forego 2) inhabit 3) ensue 4) aggravate

3-  The of coffee brought Christine into the small cafe.
1) aroma 2) fragility 3) whim 4) badge

4-  The client our proposal because they found our presentation banal and
unimpressive.
1) recognized 2) emulated 3) hailed 4) rejected

5- Immediately overcome by for the wrong he had done, I lowered him to the floor
and tried to apologize.
1) remorse 2) charity 3) stubbornness 4) esteem

6- A health inspector gave instructions on how to correct the problem; we all found
out how to handle the situation.

1) perpetual 2) rudimentary 3) explicit 4) trivial
7- 1 the cold I was getting by taking plenty of vitamin C pills and wearing a scarf.
1) vanished 2 )squandered 3) forestalled 4) penetrated
8-  Why would Ian want to claim his inheritance and then give all his money away? It was a
to me.
1) riddle 2) peril 3) glory 4) fragment
9-  He was later accused of writing loan and deposit records, found guilty and
sentenced to three years of imprisonment.
1) essential 2) fraudulent 3) vulgar 4) witty
10- The question of how the murderer had gained entry to the house the police for
several weeks.
1) exhilarated 2) assailed 3) countered 4) perplexed

Part B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
| cach space. Then mark your answer sheet.

Scuba divingis a form of underwater diving in which a diver uses a self-contained
underwater breathing apparatus (scuba) to breathe underwater.

Unlike other modes of diving. (11) rely either on breath-hold or on air pumped from

the surface, scuba divers carry their own source of breathing gas, (usually compressed air),
(12) greater freedom of movement than with an air line or diver’s umbilical and longer
underwater endurance than breath-hold. Scuba equipment may be open circuit, in which
exhaled gas (13) the surroundings, or closed or semi-closed circuit, (14)
is scrubbed to remove carbon dioxide. and (15) replenished from a supply of feed gas
before being re-breathed.

11- 1) that 2) on which they 3) which 4) they

12- 1) allowing them 2) they allow 3) allowed them 4) to allow

13- 1) exhausts 2) is exhausted to 3) exhausting 4) be exhausted

14- 1) where the gas breathing 2) which breathes the gas
3) the breathing gas which 4) in which the breathing gas

15- 1) the oxygen is used 2) the oxygen used is
3) uses the oxygen to be 4) used is the oxygen
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PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing

the best choice (1), (2), (3), or (4). Then mark the correct choice on your
answer sheet.

Passage 1:

Sea trade is one of the great economic success stories of the last 50 years. Between 1950 to
1995 it grew from (.55 bt to 4.3 bt, making shipping one of the fastest growing sectors of the
post-war economy. Although this trend looks simple, it conceals a trading world seething with
change. The growth path was irregular. Trade grew rapidly in the 1950s and 1960s. but there
were two deep recessions in the 1970s and 1980s. Regional trade was constantly on the move.
Two of the biggest trading regions, Western Europe and Japan, went through a cycle of growth
until the early 1970s and stagnation for the next two decades. New high growth economies
emerged in other areas, notably Asia and North America. The commodities trade changed.
Some trades grew rapidly, many stagnated and some declined. A few new trades such as steam
coal appeared and others like asbestos disappeared.

Businesses with a long-term commitment to sea transport need to understanding these changes.
Liner companies planning new services, shipowners specialising in industrial shipping,
shipbuilders planning capacity, and bankers financing fleet expansion all have an interest in
understanding why trade changes. Shipping is derived demand. so we must delve into the
world economy for the explanation.

There are several different ways in which we can analyse trade. First there is trade by country.
We can study why countries trade and how their trade fits in with the growth of their
economies. Second, we can look at trade from a geographical viewpoint and study the regional
distribution of maritime trade and the trade flows between the trading regions of the world.
Third, we can view trade as a collection of commodities such as iron ore, coal, oil, etc. and
study the economic characteristics of each commodity.

What were the deep recessions in seventies and eighties?

1) movement of regional trade and cycle of growth

2) growth of developed nations and decline of developing nations

3) stagnation of Europe and Japan and emergence of Asia and North America
4) none of the above

In how many ways, trade can be evaluated?

1) two 2) three 3) four 4) five

The word ‘seething’ as used in the passage refers to..........

1) irate 2) furious 3) enraged 4) all of the above
Why demand in shipping is derived demand?

1) because of the world economy 2) because it is dependant to ports

3) because it is driven from other trades 4) because it is dependant to other trades
‘Although this trend looks simple, it conceals....’, what does the ‘trend’ refers to?

1) sea trade growth 2) successful stories

3) post-war economy 4) economic success stories
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Passage 2:

To explain how the shipping industry approaches the task of transporting the complex mix of
cargoes. we need to introduce a concept that is central to the economic organisation of the
shipping market, the parcel size distribution (PSD) function. A ‘parcel’ is an individual
consignment of cargo for shipment. For a particular commodity trade, the PSD function
describes the range of parcel sizes in which cargo is transported. If, for example, we take the
case of iron ore, we see that individual shipments ranged in size from under 40,000 tons to over
100,000 tons, with the majority concentrated in the upper size range. A similar analysis for
grain shows a very different parcel size distribution, with grain shipments concentrating in the
under 80,000 ton category, and only a few of over 100.000 tons. In short, for any commodity
shipped by sea we must expect to find cargoes appearing on the market in a wide range of
parcel sizes.

The precise shape of the PSD for each commodity is determined by the characteristics of
demand. The market has sorted out the economic balance between large and small parcels. The
importance of the PSD function is that it helps to answer the central question *which cargoes
go in which ships?’ In practice. different sizes of cargo parcel require different types of
shipping operation. One important division is between “bulk cargo’, which consists of cargo
parcels big enough to fill a whole ship. and ‘general cargo’, which consists of many small
consignments, too small to fill a ship, that have to be packed with other cargo for transport.
Another is between the size of ships used. Some bulk cargoes travel in small bulk carriers,
while others use the biggest ships available. Analysis of the range of commodity trades shows
that each has its own distinctive parcel size distribution, with individual consignments ranging
from the very small to the very large.

For many commodities the parcel size distribution contains some cargo parcels that are too
small to fill a ship—for example, 500 tons of steel products—and that will travel as general
cargo, and others—say 5,000 tons of steel products—that are large enough to travel in bulk. As
the trade grows, the proportion of cargo parcels large enough to travel bulk may increase and
the trade will gradually switch from being a liner trade to being predominantly a minor bulk
trade. This happened in many trades during the 1960s and 1970s, and as a result the bulk trade
grew faster than general cargo trade. Because many commodities travel partly in bulk and
partly as general cargo, commodity trades cannot be neatly divided into ‘bulk’ and ‘general’
cargo. To do this it is necessary to know the PSD function for each commodity.

What is the main parcel size range in grain?

1) under 80,000 2) above 80,000 3) under 100,000 4) above 100,000
What makes the distinction between bulk cargo and general cargo?

1) parcel size 2) types of ship

3) economic balance 4) types of shipping operation

What is PSD function?

1) a description of a range of parcel sizes in which cargo is transported

2) an approach for transporting complex mix of cargo by shipping industry

3) a concept that is central to the economic organisation of the shipping market
4) all of the above

What was the reason for fast growth of bulk trade over general cargo trade?
1) unequal parcel size distribution

2) large cargo parcels that could travel in bulk

3) small cargo parcels that could travel in bulk

4) large cargo parcels that could travel as general cargo
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25- What is the main shipment size range in iron ore?
1) under 40,000 2) above 40,000 3) under 100,000 4) above 100,000

Passage 3:

If a ship is to trade freely into the major ports of the world without encountering overwhelming
difficulties with the authorities, it must have a nationality to identify it for legal and
commercial purposes. This is obtained by registering the ship. The way registration works
varies from one country to another, but the British regime may be taken as an illustration.
Under the Merchant Shipping Act 1894, British ships must be registered within Her Majesty’s
dominions (in practice. because of the constraints presented by the legislation of UK
Dependent Territories, that registration may have to be in the UK). A peculiarity of British
registration is that the ship is divided into sixty-four shares. For the purposes of registration,
thirty-three of these shares must be owned by a British subject or by a company established
under the law of some part of Her Majesty’s dominions and having its principal place of
business in those dominions. Because, under the UK Companies Acts, any person of any
nationality may register and own a company in the United Kingdom, it follows that a national
of any country may own a British ship.

Interestingly, there are no legal penalties for failing to register a ship in this way. possibly
because it was felt that the practical penalties are such that no legal enforcement is required to
provide an additional inducement. A ship thus registered within Her Majesty’s dominions
becomes eligible to fly the British flag, i.e. the Red Ensign, although it is not obliged to do so.
Nor is there any legal constraint on a British subject or British companies registering ships
outside Her Majesty’s dominions if they wish to do so. All that is necessary is for the
requirements of the recipient register to be met.

There is much variation in the requirements for registration. Some flag states require the ship to
be owned by a national. This is the case in Liberia, but the requirement is easily met by setting
up a Liberian company which qualifies as a national for the purposes of registration. Panama
has no nationality requirements, while the Greek flag falls somewhere between the two,
requiring 50 per cent ownership by Greek citizens or legal entities.

The distinction here is one of policy rather than access to the flag. Most national registers are
open to any shipowner, whatever his nationality, who wishes to apply for registration and
satisfies the necessary conditions. For example, the United Kingdom is open to any Greek,
Norwegian or Danish shipowner who wishes to register his vessels under the UK flag.
provided he satisfies certain requirements.

26- Under British Act, who can own a ship in UK?

1) only British nationals

2) only British companies

3) any person of any nationality

4) any person who registers and owns a company in the United Kingdom
27- What is the requirement of ship registration in Liberia?

1) no nationality requirements

2) ship to be owned by Liberian nationals

3) 50 per cent to be owned by Liberian nationals

4) none of the above
28- What a ship should have for making free trade in the world?

1) legality 2) authority 3) nationality 4) commerciality

mastertest.ir culw ;> i)l Csawlici, S WVlgw ads sqbils



mastertest.ir culw 5> 3ui,l owlicis)S Ugosl wleMbl g Ll oyl

# axiuo 318F (uazi g pges b

29- What is ship ownership in Greece?
1) only half to be owned by government
2) only half to be owned by any citizens or legal entities
3) only half to be owned by a Greek company or individual
4) none of the above
30- The word ‘Act’ as used in the passage refers to......... v
1) law 2) statute 3) decree 4) all of the above
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